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1. SR S-S A Y= 581,743| 369,854 211,889
1.3t dnAad+ 363,228| 369,854 -6,626| 8t 7] B4 0] (%) : 316,660,000 * 13 = 316,660,000
o 7] B () : 46,568,0009 * 13l = 46,568,000
2. 32 A A= 180,715 0| 180,715/ FE240] : 180,715,000 * 13 = 180,715,000
3. EELEYu AL 37,800 0| 37,800 2E5EHwAgdn] : 37,800,0009 * 1u = 37,800,000
2. A A ) 345,261 579,202 -233,941
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LA gy 338,011 571,602 -233,591
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1.7 35 850 285,620 313,450 —27,830 | FEE-ALE 1 29,0209 45 x 129 = 16,157,000
AFE AR 1 29,9209 #4578 12U = 16,157,000
N % BIFALE ¢ 29,9209 #45H 12 = 16,157,000
FolREFE 1 29,9209 %30 x 129 = 10,772,000
ulo] S Y RFALE 1 24,970920 «12Y = 5,993,000
A FEFEIFALE 1 29,9209 +60 x12U = 21,543,000
POP&A ST o LA L @ 24,9700 %207 #12Y = 5,993,000
HLERALE 24,9709 #25T # 129 = 7,491,000
SARIFALE ¢ 29,9209 #35™ 12U = 12,567,000
EAEER AR ¢ 29,9209 %35 129 = 12,567,000
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Hi =R R AL R 24,9709 %50 #1298 = 14,982,000
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1AM EE55 8 6,200 6,800 -600
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1. Adzo| g5 10,000| 10,000 0
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